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SECTION - A        (5 × 8 = 40)

Answer  any  FIVE  questions
in  about  300  words  each.

All  questions  carry  equal  marks.

1. Examine  the  criminal  justice  system.

2. Explain  the  relationship  between  criminology
and  other  social  sciences.

3. Discuss  the  views  of  classical  school  of
criminology.
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8 . °Ÿøñòñ£‚èL¡ õNº¬øèÀ‚° âšõ£Á

ïiùñòñ £ ‚ è™  î £ ‚ è ˆ¬î  ã Ÿ ð´ˆ¶Aø¶

â¡ðî¬ù M÷‚°è.

ð°F - Ýð°F - Ýð°F - Ýð°F - Ýð°F - Ý     (3 × 20 = 60)

ã«îÂ‹ Í¡Í¡Í¡Í¡Í¡ÁÁÁÁÁ Mù£‚èÀ‚° åšªõ£¡PŸ°‹ 12001200120012001200

ªê£ŸèÀ‚° Iè£ñ™ M¬ìòO‚è¾‹.

Ü¬ùˆ¶Ü¬ùˆ¶Ü¬ùˆ¶Ü¬ùˆ¶Ü¬ùˆ¶ Mù£‚èÀ‚°‹ êññ£ùêññ£ùêññ£ùêññ£ùêññ£ù ñFŠªð‡èœ.

9. ° Ÿ øMòL¡ «î £ Ÿ ø‹ ,  î¡¬ñ ñ ŸÁ‹

ðóŠªð™¬ô¬ò MõK‚è.

10. °ŸøMò™ ðŸPò ð™«õÁ «è £†ð £´è¬÷

ð°ˆî£Œè.

11. êºî£ò Ü¬ñŠ¹ H÷¾ð´î™ - M÷‚°è. «ñ½‹,

êºî£ò Ü¬ñŠ¹ H÷¾ð´î½‚è£ù è£óíƒè¬÷

MõK‚è.

12. êÍè ÜóCò™ °Ÿøƒèœ â¡ø£™ â¡ù ? «ñ½‹,

ÜóCò™ °ŸøƒèO¡ õ¬èè¬÷ M÷‚°è.

13. °ŸøMò™ î´ŠH™ ,  Þ‰Fò Üóê £ƒèˆF¡

ðƒA¬ùˆ Fø‹ðì Ýó£Œè.



4.Examine  multiple  factor  approach  to
explanation  of  crime.

5.Examine  the  nature  of  organised  crimes.

6.Explain  the  various  crimes  against  children.

7.Discuss  the  efforts  taken  by  UNO  on  crime
prevention.

8.Explain  the  influence  of  modernization  on  the
criminalisation  process.

SECTION - B        (3 × 20 = 60)

Answer  any  THREE  questions
in  about  1200  words  each.

All  questions  carry  equal  marks.

9.Describe  the  origin,  nature  and  scope  of
criminology.

10.Analyse  the  various  theories  of  criminology.

11.Explain  social  disorganisation  and  describe  the
causes  of  social  disorganisation.

12.What  is  meant  by  socio - political  crime ?
And  explain  the  types  of  socio - political  crime.

13.Critically  examine  the  role  of  Indian
Government  in  crime  prevention.

îIö£‚è‹ îIö£‚è‹ îIö£‚è‹ îIö£‚è‹ îIö£‚è‹

ð°F - Ü ð°F - Ü ð°F - Ü ð°F - Ü ð°F - Ü     (5 × 8 = 40)

ã«îÂ‹ ä‰¶ ä‰¶ ä‰¶ ä‰¶ ä‰¶ Mù£‚èÀ‚° åšªõ£¡PŸ°‹ 300 300 300 300 300

ªê£ŸèÀ‚°‚ °¬øò£ñ™ M¬ìòO‚è¾‹.

Ü¬ùˆ¶ Ü¬ùˆ¶ Ü¬ùˆ¶ Ü¬ùˆ¶ Ü¬ùˆ¶ Mù£‚èÀ‚°‹ êññ£ù êññ£ù êññ£ù êññ£ù êññ£ù ñFŠªð‡èœ.

1.°ŸøcFò™ º¬øè¬÷ Ýó£Œè.

2.°ŸøMò½‚°‹ Hø êÍè ÜPMò™èÀ‚°I¬ì«ò

àœ÷ àøM¬ù M÷‚°è.

3.°ŸøMòL™ ªî£¡¬ñ C‰î¬ù ðœOJ¡

è¼ˆF¬ù Mõ£F‚è.

4.°ŸøM÷‚è‹ ðŸPò ð™º¬ù Üµ°º¬ø¬ò

Ýó£Œè.

5.F†ìI†ì °ŸøƒèO¡ î¡¬ñ¬ò Ýó£Œè.

6.°ö‰¬îèÀ‚ªèFó£ù ðôõ¬èò£ù °Ÿøƒè¬÷

M÷‚°è.

7.°ŸøMò™ î´Š¹ º¬øèO™ ä.ï£M¡ ºòŸCè¬÷

Mõ£F‚è.
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